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1. The decimal number 99.5 lies between

(i) {100,101} (ii) {97,98} (iii) {99,100} (iv) {98,99} (v) {101,102}

2. The decimal number 483.16 lies between

(i) {481,482} (ii) {483,484} (iii) {484,485} (iv) {485,486} (v) {482,483}

3. The decimal number 439.371 lies between

(i) {437,438} (ii) {438,439} (iii) {440,441} (iv) {441,442} (v) {439,440}

4. The decimal number -50.7 lies between

(i) {-51,-50} (ii) {-53,-52} (iii) {-50,-49} (iv) {-49,-48} (v) {-52,-51}

5. The decimal number 0.056 lies between

(i {12} (i) {-1,0} (i) {-2,-1} (iv) {2,3} (v) {0,1}

6. The decimal number 0.539 lies between

(i) {2,3} (i) {-2,-1} (i) {0,1} (iv) {-1,0} (v) {1,2}

7. The decimal number -1.597 lies between

(i) {-4,-3y () {-3,-2} (i) {-2,-1} (iv) {0,1} (v) {-1,0}

8. The decimal number 4.27 lies between

(i) {4.25,4.26} (ii) {4.07,4.17} (iii)) {4.37,4.47} (iv) {4.28,4.29} (v) {4.17,4.37}

9. The decimal number 5.092 lies between

(i) {5.102,5.112} (ii) {5.093,5.094} (iii) {5.082,5.102} (iv) {5.072,5.082} (v) {5.090,5.091}

10. The decimal number -3.036 lies between

(i) {-3.026,-3.016} (ii) {-3.035,-3.034} (iii) {-3.046,-3.026} (iv) {-3.056,-3.046} (v) {-3.038,-3.037}

11. The decimal number 1.0002 lies between

(i) {0.9982,0.9992} (ii) {1.0000,1.0001} (iii) {0.9992,1.0012} (iv) {1.0003,1.0004}

(v) {1.0012,1.0022}

12. The decimal number -7.0064 lies between

(i) {-7.0054,-7.0044} (ii) {-7.0063,-7.0062} (iii) {-7.0084,-7.0074} (iv) {-7.0074,-7.0054}

(v) {-7.0066,-7.0065}

13. Which of the following decimal numbers lie between3045and30467?
(i) 3046.3 (ii) 304.5 (iii) 30452.2 (iv) 3045.2 (v) 3044.8



14.

15.

16.

17.

Which of the following decimal numbers lie between2186.4and2186.57
(i) 2186.52 (ii) 21864.6 (iii) 2186.36 (iv) 2186.46 (v) 218.65

Which of the following decimal numbers lie between1797.01and1797.027
(i) 1797.021 (ii) 1797.017 (iii) 179.702 (iv) 17970.167 (v) 1797.001

Which of the following decimal numbers lie between5162.227and5162.2287?
(i) 5162.229 (ii) 51622.275 (iii) 5162.2275 (iv) 5162.2262 (v) 516.2228

Which of the following decimal numbers lie between5340.7254and 5340.72557
(i) 5340.7256 (ii) 5340.72545 (iii)) 534.07254 (iv) 5340.7253 (v) 53407.2545
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